Equations With x on Both Sides
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Solve each of the following equations.

@D 2:+3=x+5 @5 +4=3y+6 ‘1( HINTS AND TIPS -

@D 4a-3=3a+4 @D 5 +3=2+15 j Remember theritle

' “change sides, change
» _ | signs”.

.5 P-5=3p+3 6k +5 =2k +1 | Show all your working on
this type of question.

@ sm+1=m+10 @PD8s-1=65-5 . Rearrange before you
simplify. If you try to

@D 2d+3)=d+12 5(-2) = 3(x + 4) rearrange and simplify at

the same time you will

32y +3)=5Q2y+1) @ 3(h-6) =25 - 21) _ Probably get it wrong.
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@D 4B3b-1)+ 6 =502b + 4) @D 25¢ + 2) - 2c = 3(2c + 3) 4 7



@D 2:+3=x+5

29(——9( = £33

>x = 2

640-3=3a+4

da —Sa =4 +3
a = 7
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@ im+1=m+10

4_M-M:|0—I
I = 9
n. = 9
3
m~ — 3

@D 2d+3)=d+12

2A +6 = A+ 12
dA-d = (2-6

d = 6

@ 312y +3) =502y + 1)
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@5(X—2)=3(X+4)

CSx -16 2 3o+ 12
$->c-'3>t z /2 40
C~x = =272

x £ 22

2.
~ = [l

@LD 3(h - 6) = 2(5 - 2p)
Sh—t®z10 -4,
Sh+4w - 10+)8

L = 2%
ho= 28

=
nh = g4




@4(3b'1)+6=5(2b+4)

125_44.6 1oL +20

)

12b_J0k =420+a-6

26 = 1%
L= 1%

z
L = 4

2(5c+2)—20=3(2c+3)+7

10c #4 —2¢ = Ge +% 47
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"

C

I 2
2
c = L




